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NaOH
CO, +2NaOH ==Na,CO, | +H,0
3.

CuO + H,80, =——=CuS0, + H,0
4.

o

CuS0, + BaCl, ==CuCl, + BaSo0, |
5.

o

Na,CO, +2HCl ==2NaCl + H,0 +CO, T »
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H,0 + H,0 =—H,0" + OH"
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¢(OH™) ,

1 x10™* mol /L

¢(H™) =1x10 *mol/L

o, ?
H+

() ¢(H") ¢(OH7), K,=1x10™" ¢(OH") =1x10 "mol/L
1 25°C pH =7 100°C OH" . 25%C
pH=6 ¢(H") .¢(OH™) \a ¢(H") =¢(OH") =1x10 "mol /L
o o, 1x10 "“mol/L 3
Lot MO %10
25 @ 1x10 Tmol/L
pH=7 ¢(H") =¢(OH") =1 x10 "mol/L o
o(H,0) =100 &/l _ 55 o it :
18 g/mol OH"
-7
a=%x100% =1.8x10 7% .
. -0 Mo OH" OH"
100 6 o c(HY) H,0
pH=6 ¢(H") =¢(OH") =1 x10 "mol/L (H")
o c
1 x10 °mol /L _ 6
a="ge o e X 100% = 1.8 x107°%
c(H"),
3 pH =10
H,0 . & & ?
H* T pH=10 ¢(H") =1 x10 "mol/L
> 6 .
Fe + CuSO, =—=FeS0, + Cu
o ( )
A o
Ca( HCO,) , ==CaCO0, +H,0 1 +CO, 1
7.
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